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Question Id : 68634022372 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



FAfIRIT T2 D Ygh Wl & JoR alfeid ;
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Sub questions

Question Number : 1 Question Id : 68634022373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
TR TR H HERIUR U SR 61 © - H Waifehd Ue 31 a1 U 8 2
1. e & YR 9T
2. 3T 9
3.8 TH
4. fomuRiS

Options :

68634088401. 1
68634088402. 2
68634088403. 3
68634088404. 4

Question Number : 2 Question Id : 68634022374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
TR & SR WR RASihdi R AT @6 © :
1.95
2. 20"
3. O & YIS

4. 3EERI & a9

Options :
68634088405. 1
686340884006. 2



68634088407. 3
68634088408. 4

Question Number : 3 Question Id : 68634022375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OGP DI HI DI IS1-T61 94 Bl ToR TS & -

A. GRI @1 @8 AlHaR
B. YIS
C. ddlgld
D. Wal g gidl
E frdi g2
i fU 70 fJadhedl § T Tol 39 &1 99 Bt -
1. $AAB, C
Hdd A, DJE
HAAC,D.B

4 FAAATE

Options :

68634088409. 1
68634088410. 2
68634088411. 3
68634088412. 4

| ]

L5 ]

Question Number : 4 Question Id : 68634022376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fo5=1 ot @t U1g aEe & fea T T8l fie gadt & -

A. IRfed vAfde
B. ¢diag

C. 3a-d

D. &9

E. g

- feg g faoed! H ¥ Hel SR &1 99+ Hife -
1. PAUA, B

. $ddaC, D

3. HduD, E

4.%49d B, D

Options :

68634088413. 1
68634088414. 2
68634088415. 3
68634088416. 4

| ]

Question Number : 5 Question Id : 68634022377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S 1 9 R SR © -
1. S HH & U8 & < o §ied 81
. §AqH AR
ST TEd BT 31T AR g3 Bl
4. 1 g T 5

Options :

68634088417. 1
68634088418. 2
68634088419. 3
68634088420. 4

| ]

LIPS ]

Question Id : 68634022372 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634022373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR TR H HERIUR U SR 61 © - H Waifehd Ue 31 a1 U 8 2
1. e & YR 9T
2. 3T 9
3.8 TH
4. fomuRiS

Options :

68634088401. 1
68634088402. 2
68634088403. 3
68634088404. 4

Question Number : 2 Question Id : 68634022374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
TR & SR WR RASihdi R AT @6 © :
1.95
2. 20"
3. O & YIS

4. 3EERI & a9

Options :
68634088405. 1
686340884006. 2



68634088407. 3
68634088408. 4

Question Number : 3 Question Id : 68634022375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OGP DI HI DI IS1-T61 94 Bl ToR TS & -

A. GRI @1 @8 AlHaR
B. YIS
C. ddlgld
D. Wal g gidl
E frdi g2
i fU 70 fJadhedl § T Tol 39 &1 99 Bt -
1. $AAB, C
Hdd A, DJE
HAAC,D.B

4 FAAATE

Options :

68634088409. 1
68634088410. 2
68634088411. 3
68634088412. 4

| ]
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Question Number : 4 Question Id : 68634022376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fo5=1 ot @t U1g aEe & fea T T8l fie gadt & -

A. IRfed vAfde
B. ¢diag

C. 3a-d

D. &9

E. g

- feg g faoed! H ¥ Hel SR &1 99+ Hife -
1. PAUA, B

. $ddaC, D

3. HduD, E

4. %ddB,D

Options :

68634088413. 1
68634088414. 2
68634088415. 3
68634088416. 4

| ]

Question Number : 5 Question Id : 68634022377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S 1 9 R SR © -
1. S HH & U8 & < o §ied 81
. §AqH AR
ST TEd BT 31T AR g3 Bl
4. 1 g T 5

Options :

68634088417. 1
68634088418. 2
68634088419. 3
68634088420. 4

| ]
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Sub-Section Number : 2
Sub-Section Id : 686340729
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634022378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frrfefad | 9 gqy 919y &1 =g S
1. T B I

T Yl

T BT
YT 61 5l g

Options :

68634088421. 1
68634088422 2
68634088423. 3
68634088424. 4

| ]

Lad

s

Question Number : 6 Question Id : 68634022378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frfafad & 9 Yy 9190 BT 99 BT
1. 4T B IS

T Y|

YT U
14T DI el g3l |

Options :

68634088421. 1
68634088422 2
68634088423. 3
68634088424. 4

| ]

Ly ]

s

Question Number : 7 Question Id : 68634022379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UaghH & IR &I F1 a1 Hel g |
1. 319 631 |

S T

iy

4. 319 ST

Options :

)

Lad



68634088425. 1
68634088426. 2
68634088427. 3
68634088428. 4

Question Number : 7 Question Id : 68634022379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&b T & TR P11 a1 Ha1 ¢ |
1. Y &S|

AT TS B

EIEERY

4, 319 §f3Y|

Options :

68634088425. 1
68634088426. 2
68634088427. 3
68634088428. 4

| ]

faa

Question Number : 8 Question Id : 68634022380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FET B fGaH HHE-1 82
1. ST
TR
3. IR
4, SUIld

Options :

68634088429. 1
68634088430. 2
68634088431. 3
68634088432. 4

| ]

Question Number : 8 Question Id : 68634022380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e &7 fadiy BiH-a1 82
1. YT

. YT

3. 3T

4, FHUnd

Options :

68634088429. 1
68634088430. 2
68634088431. 3
68634088432. 4

| ]

Question Number : 9 Question Id : 68634022381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
eI Xg-arar & {10 Us Weg HH-91 67
1. GHET
dluig

3. QRad
4, gaogrdt

Options :

68634088433. 1
68634088434. 2
68634088435. 3
68634088436. 4

| ]

Question Number : 9 Question Id : 68634022381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST XG-aIaT & (o0 USh Weg SIH-11 32
1. GHEM
iy

3. QMRad
4, gaogrd

Options :
68634088433. 1

| ]



68634088434. 2
68634088435. 3
68634088436. 4

Question Number : 10 Question Id : 68634022382 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST aoiT HeTaX &1 -1 fafgd & 9 wgt ofd g2
1. g gHl
RCHICRISE

EsciNEn
4. yguid giAT

Options :

68634088437. 1
68634088438. 2
68634088439. 3
68634088440. 4

| )
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Question Number : 10 Question Id : 68634022382 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST T HgTdX &1 -1 fafad & 9 w8t o | g
1. G EA
T e

GBI
4. HgHid g1

Options :

68634088437. 1
68634088438. 2
68634088439. 3
68634088440. 4

)

Laa

Question Number : 11 Question Id : 68634022383 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fr=fafaa § 9 o e R @maemEtt, nforas ik saifast 6 Sodt. 2raree] § Seuid & ed U 3R
Tl & HeH UEE JRiaH- e aitd & SRaR & A3 4 T U6 92

1. HTEBET
T g

SR DY
4, RIBMHARBY

Options :

68634088441. 1
68634088442. 2
68634088443. 3
68634088444. 4

| ]

faa

Question Number : 11 Question Id : 68634022383 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFEfafead § O &1 Ue YRG™ IauraEt, Toas SR Saifas 6 sudl. Tdsal § 9o 3 38d 4 3R
TTal & 9 U@ JuigH- [Awaned & eXaR & A3 T Td 42

1. HRBET
TaE gH

SR P
4. AR

Options :

68634088441. 1
68634088442. 2
68634088443. 3
68634088444. 4

| ]

L]

Question Number : 12 Question Id : 68634022384 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UEe YR Raars! {5 YRd o fau veedle § sfiedfis O @l ued oidi g 98 6 -
1O 3L 3w

AR Fge

4, 41, 9.y

Options :

68634088445. 1
68634088446. 2
68634088447. 3
68634088448. 4

| ]

[ 5]

Question Number : 12 Question Id : 68634022384 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl YR faarst for= yRd & fou vwite § siicfis § @ul ues Sidig 98 8 -
1. 91, <. e

RS Fgs

4. 1t df. {7y

Options :

68634088445. 1
68634088446. 2
68634088447. 3
68634088448. 4

| B

Lad

Question Number : 13 Question Id : 68634022385 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T’ B SR URIYS $ f61 T Jfad g1+ are o &1 gu 31 Seard o
LGgH

%

4. PIARCIA

Options :



68634088449. 1
68634088450. 2
68634088451. 3
68634088452 4

Question Number : 13 Question Id : 68634022385 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T’ & SR URIYS S f&1 T Jfad g1+ are o &1 gu 31 Seard o
LGgH

%

4. PIARCIA

Options :

68634088449. 1
68634088450. 2
68634088451. 3
68634088452. 4

Question Number : 14 Question Id : 68634022386 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UERT @ THIY 3R Y-S ivfd AR P § ¥ oH-9 e 4 Sefia e

A. PHRRTHAG
B. ol ¥H
. dlg o
D. fég e

- U U foeed # © 981 STR & 909 Sifoe:
1.%ad A. B R D

. $ad B, C ARD

.$ad C IR D

4, 99AD

Options :

68634088453. 1
68634088454. 2
68634088455. 3
68634088456. 4

| )

L



Question Number : 14 Question Id : 68634022386 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UeRT 1 B1U 3R Ya-Sep 1iofd AfeR Fefafad # €S-8 ¥ 9 g6idd g2

A. SRRTYAG
B. o ¥H
C. dig od
D. Egvyd

1 feu U fasedl O O g1 IR & 904 Hifeid:
1. %ad A, B SR D

PAAB, C AR D

.Pad C AR D

4.%49UD

Options :

68634088453. 1
68634088454. 2
68634088455. 3
68634088456. 4

| ]

L5 ]

Question Number : 15 Question Id : 68634022387 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=i fbd YRd & g uld & Fatem §q Mal=e® dsd &1 167 gidl 82

A. @ld 941 & Haifad gew

B. U@ Iod & [GUTH 9T & (Haiiad e
c. faur uftwe & fFafa 1w

D. 3T JHT & Faif=a 95

2 fou o fdwedl 3 € 9t SR @1 7oA i
1. #ad A, B 3R D

HAd A, C HRD

. $adA B, C AR D

4.%ad A 3N B

Options :

68634088457. 1
68634088458. 2
68634088459. 3

| )

[#5]



68634088460. 4

Question Number : 15 Question Id : 68634022387 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[F=ifard fa e YRT & Igufa & (Hafem &g Faas ded &1 789 gial 67

A @F U & Faifa gew

B. Ud® Io0 & fau 941 & Haifd 95w
c. faur afvee & fAaffa ge

D. 3T 41 & fHaifa gew

- fau e fam et § 9 et SR @ 904 $if:
1. %ad A, B SR D

. ®ad A, C SR D

$adB, C ARD

4, Pad AR B

Options :

68634088457. 1
68634088458. 2
68634088459. 3
68634088460. 4

| ]

L]

Question Number : 16 Question Id : 68634022388 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@ﬂé’fﬁ%ﬁﬁﬁﬁﬁfﬂﬂﬂﬂ@ﬂ?{ﬁﬁﬁ%@ﬁﬁ%ﬁ 1891 3R F1fe R 9 3841 8| dfda & ol &1 $a I
feoa-t g2

1.

n
L

)
Lh
(=}

4. 58

Options :

68634088461. 1
68634088462. 2
68634088463. 3
68634088464. 4

Question Number : 16 Question Id : 68634022388 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

wufﬁ%@mﬁf&mw @1 R Ufckd & aid RR 9 1841 3R arfed RR Y 38d7 g1 Uld 1 SH1 &1 $a 9@
feoa-i g2

1. 55

| ]
Lhn
h

L4 ]
[

4. 58

Options :

68634088461. 1
68634088462. 2
68634088463. 3
68634088464. 4

Question Number : 17 Question Id : 68634022389 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe St faeedi § T & AR 3! B 3aRiel HH & ogafeyd o faar o |, O Fefafaa & 3 St
T ey BIeT IT TET 8 Sty

1. 865

[ )

. 468

[#F]
L
o
[ 5]

4, 786

Options :

68634088465. 1
68634088466. 2
68634088467. 3
68634088468. 4

Question Number : 17 Question Id : 68634022389 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe d et Aol § 9w & 9R 3i@! &1 el $H H cuafiyg o faar o, Jf efaiaa § O et
e gay wic] Ii T3 gl St

1. 865
2. 468

3

Ln

93

4. 786

Options :

68634088465. 1
68634088466. 2
68634088467. 3
68634088468. 4

Question Number : 18 Question Id : 68634022390 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUT - DS 1 39 e guf &9 3§ AR e

freep - 1, fopdt oft =1 & fTT Sroefl Saxg el & SITER 9d 8 I 3R Sadfad Bl

YT T
1. &% & S HIYROIC: HTTH BITUE |

e 11 Frspe @ e
. ad 1 SR 11 (Y AR Bl § |
3. Fen 1 styar sy 11 AN BT B
4, %aq 1 FsHy A BT B

Options :

68634088469. 1
68634088470. 2
68634088471. 3
68634088472. 4

ot
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Question Number : 18 Question Id : 68634022390 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B - By I 3 feipd guf =U F st iR 181 2
[ . 1. Tt o1 =1 o o7y Uit SiaRg s dl & SIUR 96 $© S0 AR SIS BT
SEYA B
1. &0 & TN YR ST 81 U g |
Tad 11 Fred an eI 3|
. ad 1 AR 11 Py AR B B
3. foreapd 1 v Frspd 1 AL BT R
4. %ad I (b AR EIaT 3|
Options :
686340884609. 1
68634088470. 2

68634088471. 3
68634088472. 4

[

| B

Question Number : 19 Question Id : 68634022391 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ERil ﬂj’@?ﬂ 1224, 612, 204, 102, 34,.......
T STe! T &1 gl

1.18

| )

17

3. 16

4.1

L]

Options :

68634088473. 1
68634088474 2
68634088475. 3
68634088476. 4

Question Number : 19 Question Id : 68634022391 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o9 @Al 1224, 612, 204, 102, 34,......
T 3T T 1 s

1.18

)

.17

3. 16

4.1

L]

Options :

68634088473. 1
68634088474 2
68634088475. 3
68634088476. 4

Question Number : 20 Question Id : 68634022392 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o: [z s, wielldl, g5, difir, Udhdl SR IRy Ue Ufdd J STk &1 $iR g PP 66 & | Tl 3R=U]
3R bl & di= H &3 31 i1 i iR R =781 ¢ | F6ild Ul & g alie o981 g | B1ivar e RR
R 51 § | SIU®] & g3 alled B g7

1. A&
. g&ldr

cdsl

| ]

[ 5]

4. Uhdl

Options :

68634088477. 1
68634088478. 2
68634088479. 3
68634088480. 4

Question Number : 20 Question Id : 68634022392 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



©: i aR=on, el =, ST, Ul SR BIRa Ue Ufdd J STk &1 3R 58 PP 66 & | T, 3R=01
3R Uwdl & &< H 961 81 et fohdi RR R =161 8 | aiid1 Uhdl & g alfe- 981 § | Wi e R
TR 51 § | SITUeT & qed alie & 87

1. 3T
gl

e

-J

T

4. U dl

Options :

68634088477. 1
68634088478. 2
68634088479. 3
68634088480. 4

Question Number : 21 Question Id : 68634022393 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G TR0 3x2 — 10x +2p= 0P HAGHA G I p BT HH FITGHT -

2
3
) 25
[{]
3. 23
3
Koo
6
Options :

68634088481. 1
68634088482. 2
68634088483. 3
68634088484. 4

Question Number : 21 Question Id : 68634022393 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT FHIHRO1 352 — 10x +2p =0 P A GHA § Al p BT HH T GHT :

A
|

3

6

3.2

3
Kol
b

Options :

68634088481. 1
68634088482. 2
68634088483. 3
68634088484. 4

Question Number : 22 Question Id : 68634022394 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1% Pig UM 4 a8 1 R Wiawrd IealS od7el U= 3 0N 61 &fidl § df del A JHH &< R fha auf § @
&1 27 TN G SIUT -

1. 16TY
18T
31539
4. 1279

Options :

68634088485. 1
68634088486. 2
68634088487. 3
68634088488. 4

| ]

Question Number : 22 Question Id : 68634022394 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A Pig AT 4 T8 § R WAWd Fh gl oaTel R 3 0N 31 Ol § O ag! 013 IHH & &R fba- auf & w4
1 27 UM g SIUe -

1. 1694
18Ty
15 ay
41299

Options :

68634088485. 1
68634088486. 2
68634088487. 3
68634088488. 4

| ]
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Question Number : 23 Question Id : 68634022395 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l SISRIEd UTHl 1 Bepl Il 8, U UM U 3 4 3@ b aul g8 U WR 4 ¥ (S 3idh 31 P
T &1 B

12
6

)
|

=

= R

Options :

68634088489. 1
68634088490. 2
68634088491. 3
68634088492. 4

Question Number : 23 Question Id : 68634022395 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1 2
6
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Options :

68634088489. 1
68634088490. 2
68634088491. 3
68634088492. 4

Question Number : 24 Question Id : 68634022396 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

11 T3] T S 52 & | U8a 6 SISl &1 39 53 © Ul 3ifH 5 S=rsil &1 S9ad 498 df , B8l
WWW

1.51

[ ]
s
o

L4 ]
Lh
2
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L
L

Options :

68634088493. 1
68634088494, 2
68634088495. 3
68634088496. 4

Question Number : 24 Question Id : 68634022396 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



11 @13l BT 71T 52 1 UGd 6 SN 1 31199d 55 8 quT i 5 Teamsf &1 s{aa 40§ ol . 98l
T J1d Biferd

1.51

)
e
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4. 55

Options :

68634088493. 1
68634088494. 2
68634088495. 3
68634088496. 4

Question Number : 25 Question Id : 68634022397 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<l gHiR geRal W, 2 sRiaR 250 HY. aFelg $I Yorisal fqudid fan # fog A sik fdig B 9t g1 97y
TR 36 fhHI/EeT 3R 44 fHHl/GTT 1 910 U 90 61 § | o1d d T GUR I UR Bl 6 ol U Lol Garl
T ¥ 40 {5t 3 g U A g1 g A iR g B T dm T g gl -

1. 399.0 fapdit
. 400.0 Toodt
.399.5 fopmit
4. 400.5 fep it

Options :

68634088497. 1
68634088498. 2
68634088499. 3
68634088500. 4

| ]
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Question Number : 25 Question Id : 68634022397 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& IR 9e il IR, 3 aRTeR 250 Ol Tl o] Yarnisar fausid f3en 4 fdg A iR fdg B 9 U® &1 99y
R 36 fati/der 3R 44 fobeilder 1 =re 9 =e 381 § | Ofd d U S8R I UR Xl & df U Yeisl, gadl
TS ¥ 40 forsit 31fere gt 7 Bl 51 foig A SR foig B & oig 31 g3 Bl -

1. 399.0 Tt
.400.0 fopit
.399.5 fopdit
4. 400.5 fpt

Options :

68634088497. 1
68634088498. 2
68634088499. 3
68634088500. 4
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Part B: Horticulture

Section Id : 686340444
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340730
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634022398 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prokaryotic cells contain specialized areas of nucleic acids called

1. Dictyosomes

()

. Nucleoid
3. Ribosomes
4. Cytoplasm
Options :

68634088501. 1
68634088502. 2



68634088503. 3
68634088504. 4

Question Number : 26 Question Id : 68634022398 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WTap=5a BTt & Zfde ona & Ay A g =i A g
1. fefacaram
. HSPHTH
TEENT
4, PIAEA

Options :

68634088501. 1
68634088502. 2
68634088503. 3
68634088504. 4

| ]
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Question Number : 27 Question Id : 68634022399 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The aqueous solution which tends to dissolve several organic compounds viz. sugars, amino acids and
proteins. including inorganic materials in cell 15 called

1. Glycol

2. Peroxisomes

T

. Peptidoglycan
4. Cytosol

Options :

68634088505. 1
686340885006. 2
68634088507 3
68634088508. 4

Question Number : 27 Question Id : 68634022399 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BITRTepT BT faera fores fafi Brei-ep Ui S, [, Sl 3%l S Uiy ofrd & 4 fg e
Sf 9Tl &

1. TTE®d
 qRFEEE

3. UUTSraad
4. DG

Options :

68634088505. 1
68634088500. 2
68634088507. 3
68634088508. 4

| ]

Question Number : 28 Question Id : 68634022400 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Inner chloroplast membrane tends to form numerous membrane stacks termed as

1. Thylakoid

[

. Peptidoglycan

L]

. Cytosol
4. Glyoxysomes

Options :

68634088509. 1
68634088510. 2
68634088511. 3
68634088512. 4

Question Number : 28 Question Id : 68634022400 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ERaad® B TR Breci 9gd IR & G4 & fora! - el ol 6 -
1. YIATRISS

o sraae

3. PIRME

4, TG

Options :

-J



68634088509. 1
68634088510. 2
68634088511. 3
68634088512. 4

Question Number : 29 Question Id : 68634022401 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a protein that 1s soluble in water and performs the functions of metabolic proteins
and most enzymes

1. Prolamins

()

. Globulins

. Glutelins

L]

4, Albumins

Options :

68634088513. 1
68634088514. 2
68634088515. 3
68634088516. 4

Question Number : 29 Question Id : 68634022401 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 o 9 o 9 U oa o goiid § aul Surg=Rit UidlE aur ufehug &1 $1d Sl 52
1. U=

RIS

R

4. UegfiT

Options :

68634088513. 1
68634088514. 2
68634088515. 3
68634088516. 4

| ]
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Question Number : 30 Question Id : 68634022402 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Transfer RNA (tRNA) makes up about of total RNA which have molecular weights in the range of 23-
30kDa

()
—
o
1
—
N
=]
=)

. 20-40%

L]

4. 40-60%

Options :

68634088517. 1
68634088518. 2
68634088519. 3
68634088520. 4

Question Number : 30 Question Id : 68634022402 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
23-30 kDa 3T1UG® YR dT¢l 3RO RNA (+-RNA), ¥901 RNA H J fob a1 Wio=rd umn Siran g 2
1. 5-10%
2.10-15%

. 20-40%

L]

4, 40-60%

Options :

68634088517. 1
68634088518. 2
68634088519. 3
68634088520. 4

Question Number : 31 Question Id : 68634022403 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Protoco-operation 1s a relationship that exists among species under any ecosystem
1. Neutral
2. Beneficial
3. Negative

4, Random

Options :
68634088521. 1
68634088522. 2



68634088523. 3
68634088524. 4

Question Number : 31 Question Id : 68634022403 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fep it oifRufaes o7 o fafir wefaal & s= rE D UICD SR Hed 6|
1. I / Ayt

NI CAE

| ]

APRIAS

[ 5]

[N

4. Ol / A

Options :

68634088521. 1
68634088522. 2
68634088523 3
68634088524. 4

Question Number : 32 Question Id : 68634022404 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

indicates the completion of ecosystem which breakdown the cellular organic compounds mnto smaller
organic molecules

1. Carnivores

[ ]

. Omnivores

[FS]

. Saprotrophs

4. Herbivores

Options :

68634088525. 1
68634088526. 2
68634088527. 3
68634088528. 4

Question Number : 32 Question Id : 68634022404 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. ATER
.t
3. Fcroitdl
4, RITPTEII

Options :

68634088525. 1
68634088526. 2
68634088527. 3
68634088528. 4

| ]

Question Number : 33 Question Id : 68634022405 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Under ecological pyramids. express quantitative relationship of standing crops

1. Pyramids of biomass

()

. Pyramids of energy

L%}

. Pyramids of numbers

4. Pyramids of functions

Options :

68634088529. 1
68634088530. 2
68634088531. 3
68634088532 4

Question Number : 33 Question Id : 68634022405 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & @ o w uilkfufas fiRifrs wadl & o aEere @we axifd )
1. 519 Hefd/ Sid 7P &1 RIS

. Sl &1 RIS

3. ST (RIS

4. PATES ORIES

Options :
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68634088529. 1
68634088530. 2
68634088531. 3
68634088532. 4

Question Number : 34 Question Id : 68634022406 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Geomagnetism doesn't directly represent which of the following factors?

1. Climatic factor

()

. Physical factor

. Chemical factor

[F¥]

4. Biological factor

Options :

68634088533. 1
68634088534. 2
68634088535. 3
68634088536. 4

Question Number : 34 Question Id : 68634022406 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS @ (8§ ¥ B H-H RS I o] BHIal?
1. Sargat

Ao

3. IS

4. Nifdes

Options :

68634088533. 1
68634088534. 2
68634088535. 3
68634088536. 4

| ]

Question Number : 35 Question Id : 68634022407 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In Calvin cycle. first CO, acceptor 1s

1. Phosphoenol pyruvate (PEP)

()

. 3-Phosphoglyceraldehyde (3 PGA)
3. Ribulose-1. 5-biphosphate (RuBP)
4. Adenosine triphosphate (ATP)

Options :

68634088537. 1
68634088538. 2
68634088539. 3
68634088540. 4

Question Number : 35 Question Id : 68634022407 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Siea 9 H UUH co, Tg! FE H A BH-A1E 2
PIIEHIT UIIR=de(PEP)

3B IR BISS (3 PGA)
e -1, 5-feepiEhe (RuBP)

. UfSHIRA grsWIhe (ATP)

Options :

68634088537. 1
68634088538. 2
68634088539. 3
68634088540. 4

[—y

| ]
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Question Number : 36 Question Id : 68634022408 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which photosynthetic pathway involves the cooperation of mesophyll cells and bundle sheath cells

1. C5 pathway

()

. C4 pathway
3. CAM
4. Plastocyanin

Options :
68634088541. 1



68634088542. 2
68634088543. 3
68634088544. 4

Question Number : 36 Question Id : 68634022408 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 1 9 ®1H-4 HTRI SR gy I quinediae td Jareos (@sd 2Y) SRS &1 9edi Edl o?

1.C; Y

| ]

C, Uy
3.CAM

4, W A=A

Options :

68634088541. 1
68634088542. 2
68634088543. 3
68634088544. 4

Question Number : 37 Question Id : 68634022409 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During photosynthesis, the visible wavelength of light ranges between nm

1. 300-700

[ E]

. 170-240

. 340-730

L%}

4. 370-760

Options :

68634088545. 1
68634088546. 2
68634088547. 3
68634088548. 4

Question Number : 37 Question Id : 68634022409 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YT TRAYU H ¥T YT &I e BT R g SH-91 87

1. 300-700

-

. 170-240
3. 340-730
4. 370-760

Options :

68634088545. 1
68634088546. 2
68634088547. 3
68634088548. 4

Question Number : 38 Question Id : 68634022410 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Under photo-morphogenesis, light is generally used for reduction of in the plants

1. Phytochromes

[

. Photon

L]

. Phytohormones

4. Photosystem

Options :

68634088549. 1
68634088550. 2
68634088551. 3
68634088552. 4

Question Number : 38 Question Id : 68634022410 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WBTRI-ARBIGH R T FafiRad g &1 su=g- Uesr< gRI 811 82
1. Areqquis

Bl

3. UTeUgTHIA

4, YT T

Options :
68634088549. 1
68634088550. 2
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68634088551. 3
68634088552. 4

Question Number : 39 Question Id : 68634022411 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Compound light microscope uses to produce a magnified image of an object or specimen
1. IR rays

2. UV rays

]

. Visible light
4. Transmission light

Options :

68634088553. 1
68634088554. 2
68634088555. 3
68634088556. 4

Question Number : 39 Question Id : 68634022411 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g gerexil [l g% o1 safeld uidfere Rafdiad 69 & w3 9 o
1. 3favad f=uf (TR)
RIS {0 (Uv)y

R YPTRI

| ]

Lad
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Options :

68634088553. 1
68634088554. 2
68634088555. 3
68634088556. 4

Question Number : 40 Question Id : 68634022412 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Living cells in culture dishes filled with medium using standard objectives are examined through

1. Simple microscopes

()

. Inverted microscopes
3. Compound microscopes

4. Transmission Electron Microscope (TEM)

Options :

68634088557. 1
68634088558. 2
68634088559. 3
68634088560. 4

Question Number : 40 Question Id : 68634022412 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yasq few o foo it e o Suflyd siifad Sifiersl &1 Fiem Fafafad fog & grifea emars |
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Options :

68634088557. 1
68634088558. 2
68634088559. 3
68634088560. 4

Question Number : 41 Question Id : 68634022413 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1¢ a hole or opening in an opaque mask designed to eliminate stray light from entering the light path

-

. Diaphragm

| ]

. Eyepiece
3. Condenser

4. Aperture

Options :
68634088561. 1
68634088562. 2



68634088563. 3
68634088564. 4

Question Number : 41 Question Id : 68634022413 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT I BT I HbT=I Y I AT B3 5 HURERI AR I &+ &5 ol (Hafiiad 8d 3 -

1. STUERTH

Gl

.
4. gR®

Options :

68634088561. 1

68634088562. 2

68634088563. 3
68634088564. 4
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Question Number : 42 Question Id : 68634022414 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1s used to study the mitotic spindle fibers in dividing cells

1. Inverted microscope

| ]

. Phase contrast microscope

. Compound microscope

L

4, Fluorescence microscope

Options :

68634088565. 1
68634088566. 2
68634088567. 3
68634088568. 4

Question Number : 42 Question Id : 68634022414 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634088565. 1

68634088566. 2

68634088567. 3
68634088568. 4
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Question Number : 43 Question Id : 68634022415 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following has the maximum wavelength ?

1. Radio waves

[

.UV - rays
3. Micro waves
4. Gamma rays
Options :
68634088569. 1
68634088570. 2

68634088571. 3
68634088572. 4

Question Number : 43 Question Id : 68634022415 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafarad famedl & Iad e aured o o1 62
1. &gl ad
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Lad

4, TMET A

Options :
68634088569. 1



68634088570. 2
68634088571. 3
68634088572. 4

Question Number : 44 Question Id : 68634022416 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Anther / Pollen culture was discovered for the first time by

1. I.P. Nitsch (1969)

[

. Murashige and Skoog (1964)

. 8. Guha and 8.C. Maheshwari (1964)

s

4, D.J. Heinz (1973)

Options :

68634088573. 1
68634088574. 2
68634088575. 3
68634088576. 4

Question Number : 44 Question Id : 68634022416 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RITHIRT /IR SaeH FafaRad fog & R e T
ol 1T 19T (1969)

. HRTRINT OYUT 1 (1964)

-

)

Lad

0. 76T Ud TH. 1. A4 (1964)
4. 1. 9§15 (1973)

Options :

68634088573. 1
68634088574. 2
68634088575. 3
68634088576. 4

Question Number : 45 Question Id : 68634022417 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Plant ecologists use to define a species-area curve for a plant commumty and to investigate
vegetation patterns in a limited area

1. Semi quadrats

()

. Nested quadrats

L]

. Honeycomb quadrats

4. Basic quadrats

Options :

68634088577. 1
68634088578. 2
68634088579. 3
68634088580. 4

Question Number : 45 Question Id : 68634022417 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

folt T & § uTey e & 9ol &= 99 B IRHINT B 8q TUT IHd® Wi & a0 8g
UIey-UTRIRUT! a1 -5 fhd o1 W R 52

1. 3¢ a7 ST (@ P50
Arsd @1 Sfae (RS B5e)

[ ]

3. BT I g¥l WTeIan]

4, Aiferer arf ST (R Brge)

Options :

68634088577. 1
68634088578. 2
68634088579. 3
68634088580. 4

Question Number : 46 Question Id : 68634022418 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A group of organisms of one species living in a particular area at a particular time can be termed as

1. Cluster

[

. Community
3. Kingdom

4. Population

Options :



68634088581. 1
68634088582. 2
68634088583. 3
68634088584. 4

Question Number : 46 Question Id : 68634022418 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ferft a1 o & we oo o X5 At U wenfa & offdl & 9Hg & e § S e oed 77
LgS
T
R

| ]

faa

4, ST

Options :

68634088581. 1
68634088582. 2
68634088583. 3
68634088584. 4

Question Number : 47 Question Id : 68634022419 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Estimates of abundance or density of plants can also be derived from
1. Transition data
2. Line intercept data

. Meta data

[F¥]

4. Aerial surveys

Options :

68634088585. 1
68634088586. 2
68634088587. 3
68634088588. 4

Question Number : 47 Question Id : 68634022419 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ATEfcies FU-TdT SUal U=Ral Bl sbad 4 9 § ogad foar o gedl g2
1. TpHUT 3P g

| ]

 AeA-Eeup 3iids
3. Hel dids
4, ATHTLT Fa&T

Options :

68634088585. 1
68634088586. 2
68634088587. 3
68634088588. 4

Question Number : 48 Question Id : 68634022420 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The art and science of using plant derived essential oils to eliminate stress of modern day life 1s

1. Orchard tourism

[

. Agro tourism
3. Botanical gardens

4. Aroma therapy

Options :

68634088589. 1
68634088590. 2
68634088591. 3
68634088592. 4

Question Number : 48 Question Id : 68634022420 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1Y e Qall I ITH G919 1 FHTG P & (00 UIgT e WY oe Jaid Hal ud fag &1
oA I T Fed 82

1. ST gded
. PN gdeq
3. gFEdE I

4, T T

Options :

-J




68634088589. 1
68634088590. 2
68634088591. 3
68634088592. 4

Question Number : 49 Question Id : 68634022421 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among horticultural crops. acts as a good source of protein

1. Raulfia serpentina

()

. Pisum sativum

. Solanum tuberosum

[F¥]

4. Achras zapota

Options :

68634088593. 1
68634088594. 2
68634088595. 3
68634088596. 4

Question Number : 49 Question Id : 68634022421 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fra & 9 & o Senfe waa UidH @ s I 8
e b

. Mg 98 Sclgdd

i SERE

4. U@y w9l

[r—y

| ]
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Options :

68634088593. 1
68634088594. 2
68634088595. 3
68634088596. 4

Question Number : 50 Question Id : 68634022422 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Parthenocarpie fruit development 1s observed in which of the following grape variety?
1. Sultania

. Black Monuklka

()

3. Black Corianth

4. Thompson Seedless

Options :

68634088597. 1
68634088598. 2
68634088599. 3
68634088600. 4

Question Number : 50 Question Id : 68634022422 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR B for weifa SIS w e gra ST 8
1. {ed Sa|

T GG
3. &P BINY

4 YiOg gy

Options :

68634088597. 1
68634088598. 2
68634088599. 3
68634088600. 4

[ )

Question Number : 51 Question Id : 68634022423 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The development of an F; m onion requires the development of male sterile line (A-line). an inbred maintainer

line (B-line) and a pollinator male parent (C-line). Which of the following is correct option regarding genetic
constitution of these lines?

1. A-line (Nmsms), B-line (Smsms) and C-line (N MsMs)

[

. A-line (Smsms), B-line (Nmsms) and C-line (NMsMs)

L]

. A-line (NMsMs), B-line (Smsms) and C-line (Nmsms)
4. A-line (Smsms), B-line (NMsMs) and C-line (Nmsms)

Options :



68634088601. 1
68634088602. 2
68634088603. 3
68634088604. 4

Question Number : 51 Question Id : 68634022423 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WU HF, & [dPM & ol R 99 A5 (A-ATS). 3id: Uelld 3¢-R g (B-A1g) T4 Uh X
TRFTUR] A5 (C-TT%) DI SHaaHal gl g | 3 AIg-1 BI SIS I 3 HI i g2

1. A-tllgd (Nmsms). B-@5 (Smsms) dYIC-elI5 (N MsMs)

)

CA-AIS (Smsms), B-ATgd (Nmsms) d4T C-¢lg (NMsMs)

Laa

CA-CIS (NMsMs). B-¢llg (Smsms) dUI C-¢flg (Nmsms)
4, A-clIg (Smsms), B-¢llgd (NMsMs) dUI C-¢ilg (Nmsms)

Options :

68634088601. 1
68634088602. 2
68634088603. 3
68634088604. 4

Question Number : 52 Question Id : 68634022424 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In , fruit buds are borne terminally and unfold to produce leafy shoots which terminate in flower
clusters

1. Pear

[ )

. Walnut

. Kinnow

T

4. Guava

Options :

68634088605. 1
686340886006. 2
68634088607. 3
68634088608. 4

Question Number : 52 Question Id : 68634022424 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



{4 forg o 2 S-11g SfereTd guif URIs &1d & ol 99 Yol / 775 1 faeid g1 &ird 81
1. =TTt

ERIE

3. B

| ]

4. AFG

Options :

68634088605. 1
68634088606. 2
68634088607. 3
68634088608. 4

Question Number : 53 Question Id : 68634022425 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under floral structure. a typical angiosperm anther 1s with each lobe having two theca

1. Bilobed

[

. Trilobed
3. Double paired

4, Tetralobed

Options :

68634088609. 1
68634088610. 2
68634088611. 3
68634088612. 4

Question Number : 53 Question Id : 68634022425 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTGAs Sl URRTHTRT giar s ford udl® & & wiaed (fi@n gid § |
1. fgunfere
 Argrett

fe gt
4. Iquretl

Options :
68634088609. 1

[ ]

L¥¥]



68634088610. 2
68634088611. 3
68634088612. 4

Question Number : 54 Question Id : 68634022426 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In megasporangium, the body of the ovule fuses with funicle i the region called

1. Integuiments

[

. Chalaza

. Nucellus

s

4, Hilum

Options :

68634088613. 1
68634088614. 2
68634088615. 3
68634088616. 4

Question Number : 54 Question Id : 68634022426 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR H deis siois-g 3 g & & Imifsa g
1. TG

AT
 dis®l

IR EAGEREE)

Options :

68634088613. 1
68634088614. 2
68634088615. 3
68634088616. 4

| )

fad

e

Question Number : 55 Question Id : 68634022427 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



deals with those henitable changes, which do not mvolve changes in nucleotide sequence

1. Mendellian genetics

| )

. Modern genetics
3. Eugenetics

4. DNA methylation

Options :

68634088617. 1
68634088618. 2
68634088619. 3
68634088620. 4

Question Number : 55 Question Id : 68634022427 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & 9 & 91 [doed 54 98ITd geardl 9 TEiEd ¢ (59 Ifeadiergs & o0 ¥ 9gard 9ol 8idl o7
1. HSfera Sraifista

| B

. Sﬂgﬁﬁ Hﬂ_aiiﬁifﬁiﬂ
4. DNA BfifeH

Options :

68634088617. 1

68634088618. 2

68634088619. 3
68634088620. 4

Lad

Question Number : 56 Question Id : 68634022428 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many double crosses can be made from 'n' number of inbreds

(n-1
L nn %
> n(n=1)(n-2)

A
nn-1(n-2)(n-3)
: X

4

. n(n—l%

Options :

68634088621. 1
68634088622. 2
68634088623. 3
68634088624. 4

Question Number : 56 Question Id : 68634022428 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

' 3 gardi § fbe g Tgau s ST 9&d § 2

(n—1

1 min /}é

» n(n=1)(n-2)

- . /2

3 nn-1)(n—-2)(n-3)
4

: n(n—l%

Options :

68634088621. 1
68634088622. 2
68634088623. 3
68634088624. 4

Question Number : 57 Question Id : 68634022429 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Dormancy due to rudimentary embryos 1s observed

1. Mango

()

. Palms

3. Walnut

es

. Apple

Options :

68634088625. 1
68634088626. 2
68634088627. 3
68634088628. 4

Question Number : 57 Question Id : 68634022429 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
31eq aftfa Yor & SR I o g & ol Sl g2

1. AH

O H
3. 3WRIC
4. 99

Options :

68634088625. 1

68634088626. 2

68634088627. 3
68634088628. 4

[ )

Question Number : 58 Question Id : 68634022430 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to scheme, annuals are arranged to the nearest wavelength colour

1. Analogous colour

()

. Monochromatic colour
3. Contrast colour

4. Blended colour

Options :
68634088629. 1
68634088630. 2



68634088631. 3
68634088632. 4

Question Number : 58 Question Id : 68634022430 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
{4 fopm A1 | arfies gedt &1 9y qaTee] & W1 & HTHR oIaiyd far Jar g 2

1. TATE T

Uil I

RS [ BICRE T
4, giofya &

Options :

68634088629. 1

68634088630. 2

68634088631. 3
68634088632. 4

| ]

[ 5]

Question Number : 59 Question Id : 68634022431 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1s a spray-type chrysanthemum variety suitable for making garlands

1. Topaz

| )

. Pink
3. Vasantika
4. Aglow

Options :

68634088633. 1
68634088634. 2
68634088635. 3
68634088636. 4

Question Number : 59 Question Id : 68634022431 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FrAfeREd 3 ®1F I [aarsd] @1 3ral a9 i 8 Wefd g2
1. T

4, Tl

Options :

68634088633. 1
68634088634. 2
68634088635. 3
68634088636. 4

Question Number : 60 Question Id : 68634022432 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Jasminum auriculatum, the oil recovery of percent can be obtained
1.0.14-0.19
2.0.24-0.30

. 0.17-0.19

L%}

4.0.29-0.36

Options :

68634088637. 1
68634088638. 2
68634088639. 3
68634088640. 4

Question Number : 60 Question Id : 68634022432 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sifen sifiagden & fd-r ufeera Sy o firadr g 2

1.0.14-0.19

)
o
[

24 - 0.30

. 0.17-0.19

Ly ]

4.0.29-0.36

Options :
68634088637. 1
68634088638. 2



68634088639. 3
68634088640. 4

Question Number : 61 Question Id : 68634022433 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In mughal garden. a canopied building with twelve open doors 1s termed as

1. Baradari

[ E]

. Pergola

. Terraces

]

4. Cascade

Options :

68634088641. 1
68634088642. 2
68634088643. 3
68634088644. 4

Question Number : 61 Question Id : 68634022433 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i arfEl B aRE &3 a1 37 aTdl Yo 91 dedldl g2
1, SRTE
Recali Gl

gAY

Options :

68634088641. 1
68634088642. 2
68634088643. 3
68634088644. 4

| ]

Lad

Question Number : 62 Question Id : 68634022434 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 used to improve the environment of all the areas deteriorated by developmental activities

[y

. Historical perspectives

| )

. Nature conservation
3. Bio-aesthetic planning

4. Botanical gardens

Options :

68634088645. 1
68634088646. 2
68634088647. 3
68634088648. 4

Question Number : 62 Question Id : 68634022434 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faep it Tiiafaferl & SR $o &A1 1 f§7S ugiao § guR F4 g & R 9ma 52
1. Ul ufvezy

. Ul ST &

3. Od- iR

4. gEEA® S99

| ]

Options :

68634088645. 1
68634088646. 2
68634088647. 3
68634088648. 4

Question Number : 63 Question Id : 68634022435 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

helps to protect the food agamst the deterioration caused by exposure to the air

1. Canning

| ]

. Antioxidant
3. Precooling

4. Filtration

Options :
68634088649. 1
68634088650. 2



68634088651. 3
68634088652. 4

Question Number : 63 Question Id : 68634022435 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
{74 1 91 fas ey Ui &1 8a1 § UaUis 814 R TO0d 81 J 1l 87
1. [Searad]
T SR
g4 Sitae
4. 515

Options :

68634088649. 1
68634088650. 2
68634088651. 3
68634088652. 4

| ]
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Question Number : 64 Question Id : 68634022436 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In , rapid cooling takes place due to intimate contact between cold air and produce

1. Room cooling

[ E]

Jemg

. Forced cooling

L%

4. Hydro cooling

Options :

68634088653. 1
68634088654. 2
68634088655. 3
68634088656. 4

Question Number : 64 Question Id : 68634022436 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&8I 5a1d IdIg & 0D T H- R Wiy Lde ol 71 $ed 57
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3. g9 e
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Options :

68634088653. 1
68634088654. 2
68634088655. 3
68634088656. 4

| ]

Question Number : 65 Question Id : 68634022437 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In physical hazard. foreign objects could be 1dentified by
1. Xrays
2. Niacin
3. Preservatives
4. Chemical analysis

Options :

68634088657. 1
68634088658. 2
68634088659. 3
68634088660. 4

Question Number : 65 Question Id : 68634022437 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hifci Teve / 5oils | aTel aeqU i bl & GRI Ug=rHl off Tabel g2
1. X fozuf
e
 ORRET e gRI
4. TS fo=ey

Options :
68634088657. 1

[

LIPS ]



68634088658. 2
68634088659. 3
68634088660. 4

Question Number : 66 Question Id : 68634022438 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Jack bean seeds are found to be composed of amino acid 'canavanine'.

Reasons R: Canavanine resembles arginine in strueture and interferes with the metabolism of arginine.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

[

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4, A 1s not correct but R is correct

Options :

68634088661. 1
68634088662. 2
68634088663. 3
68634088664. 4

Question Number : 66 Question Id : 68634022438 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634088661. 1
68634088662. 2
68634088663. 3
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68634088664. 4

Question Number : 67 Question Id : 68634022439 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: In hot countries viz.. Asia and Africa. the people are of optimum dark complexion.
Reasons R: The working efficiency of human tends to depend upon the climatic conditions

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

[

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 1s not correct but R is correct

Options :

68634088665. 1
68634088666. 2
68634088667. 3
68634088668. 4

Question Number : 67 Question Id : 68634022439 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- 3 HUH ST T B, TP HTUHUA (Assertion A) P Y T fARAT g I GERT 3HD BRI (Reason R)& Y
x|
ST A TR qUT 3pTeT o T <=1 H§ @ Jiad sid
HRUIR: T & B4 &a] saard g fufodi Rk e g
QWIS Y9 & 3Tl d, - f3u MU fddedl § 9 999 Iuged ok &I 999 Hifeid
1. A SRR A TEI 8 3R R, A DI Ug BT ©

| )

. A SRR ST GET € 3R R, A B UE OreT el ©
AGSIEAfPTR GE A ©
4 ATEI TR S APIR TS ©

Options :

68634088665. 1
68634088666. 2
68634088667. 3
68634088668. 4

fad




Question Number : 68 Question Id : 68634022440 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: Conducting cells m the xylem enables the transport of large quantities of water with great
efficiency.

Reasons R: Functional water-conducting cells have membranes and no organelles.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

()

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 1s not correct but R 15 correct

Options :

68634088669. 1
68634088670. 2
68634088671. 3
68634088672. 4

Question Number : 68 Question Id : 68634022440 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- & HYH QU T B, TP SHUHUA (Assertion A) & 39 T fARAd 8 I GURT 3Hd DRI (Reason R)d Y
o

SUHYT A STTaH &1 Yagd SIS g&rdl T 31fde® 7@ 5 ofd &l S adli o |
BRI R: UHTATHS Sa-Hde HIRredrs 4 fifii gidl 3 IR DI 51 8id |
SWRIF Y9 & 3(Telie H, i f3u M [ddbedl § ¥ 99 Iuged ok &1 999 BHIfT;

1. A SRR EH T8l § SRR, A DI Ug! ARAT B

. A SRR ST 98T & IR R, A B UE! oOrenT gl §
AT APARGE TS ®
ATS e AfFTR TGl B

Options :

68634088669. 1
68634088670. 2
68634088671. 3
68634088672. 4

| ]

[ 5]

s



Question Number : 69 Question Id : 68634022441 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: In light microscope. objective lens collects light diffracted by the specimen and forms a
magnified real image.

Reasons R: Condenser lens focuses light from the illummator onto a larger area of the specimen.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

()

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 1s not correct but R 15 correct

Options :

68634088673. 1
68634088674. 2
68634088675. 3
68634088676. 4

Question Number : 69 Question Id : 68634022441 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- & HYH QU T B, TP SHUHUA (Assertion A) & 39 T fARAd 8 I GURT 3Hd DRI (Reason R)d Y
o

YA A: Uiy geAexl d siftewgd o WA gRI fdafdd e $f usid o Haftld arsdfde
PINICSERIGIE

PR R: GUTEI T We IS I U & WY & AfE 875 R Siod sd gl
QWIS Y9 & 3Tl d, - f3u MU fddedl § 9 999 Iuged ok &I 999 Hifeid
1. ARREA T8I § 3R R, A DI Ugl BN §

AR REHATEIE AR R A DI el 9e] AT &
AGSIEAfPTR GE A ©
4 ATEI TRl eI R Tl &

Options :

68634088673. 1
68634088674. 2
68634088675. 3

| ]

fad




68634088676. 4

Question Number : 70 Question Id : 68634022442 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: Prokaryotic ribosomes consists of 50S and 30S subunits that combine to form 70S ribosomes.
Reasons R: Eukaryotic ribosomes consists of 608 and 40S subunits that combine to form 908 ribosomes.
In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

[

. Both A and R are true but R is NOT the correct explanation of A
3. A 1s true but R 1s not false

4. A 1s false but R 1s true

Options :

68634088677. 1
68634088678. 2
68634088679. 3
68634088680. 4

Question Number : 70 Question Id : 68634022442 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

;ﬁﬁ‘ﬁm%&m &, U IUHYUA (Assertion A) & 9 H TIRET § T THI IHD BRI (Reason R)& Y
BT A UTaH-5d| ASEMAH H 508 TUT 308 SUSHISAI 6Id! & il 708 AZEIH 101 6 |
BRI R: GHHDED! A5ardH 7 608 TUT 408 SUSHISTI 811 & il 908 G T & |
QWIS Y & 3Tl H, = fdu M fadedl § 3 999 Iuged Sk &1 994 Bifery

1. ASIRREFI A § IR R. A P! I UA &
ASIRREF IO E SR R, A P! Tg! O T8l &
ATARAFAR A&

4 ANFIEAfBPIR T

-J

Lad

Options :

68634088677. 1
68634088678. 2
68634088679. 3
68634088680. 4



Question Number : 71 Question Id : 68634022443 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: Contour system minimizes land erosion and soil moisture deficit including slope fit for
plantation crops.

Reasons R: Contour line regulates the water flow through irrigation channel and water penetration without
soil erosion.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

[

. Both A and R are true but R 1s NOT the correct explanation of A

. A 1s true but R 1s not false

s

4. A is false but R 1s true

Options :

68634088681. 1
68634088682. 2
68634088683. 3
68634088684. 4

Question Number : 71 Question Id : 68634022443 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁﬁﬁwﬁqm _E:' U IR Eale (Assertion A) & %9 H feifad %fﬁmmw (Reason R)%Q?T{
)

HIUHYT A: Wil B FO=EE gia YT &R0 TUT ga1 e Il @1 BH Sl § adl [reeE Bl &
feu Sfd e 3ar el

HRUI R: GH=RE] =T &1 ATl @ U= & agia quT [891 JaT &R0 od Wa™ &1 Fafd @xal g
IRITT BYT & ATd® 1, Aid (G0 0 f[dwedl § 9 el 3% &l 944 Iy .
ASIRREF 9§ SR R, A DI U6 URAT ©
ASRREF IUE SR R, AP Tg! oORA T8l &

ATARAPAR TR

4 ATAZAPTIRIAT S

[a—

| ]
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Options :

68634088681. 1
68634088682. 2
68634088683. 3
68634088684. 4



Question Number : 72 Question Id : 68634022444 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: HACCP is an expensive approach to food safety and product quality.

Reasons R: Various quality management systems like TQM and ISO can be easily integrated with HACCP.
In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

[

. Both A and R are true but R 18 NOT the correct explanation of A
3. A is true but R is not false

4. A is false but R 1s true

Options :

68634088685. 1
68634088686. 2
68634088687 3
68634088688. 4

Question Number : 72 Question Id : 68634022444 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁﬁﬁwﬁqm _E:' U IR Eale (Assertion A) & %9 H feifad %fﬁmmw (Reason R) Gaas)
)
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JRITT FYT & ATASD 1, Ard (U T8 fdbedl § 4 Yl 3R &1 994 S ifelg

ARREA T E IR R, AP U ARAT &
A SRR EF TUT IR R, AP Gel I A8 &
ATIE WP R ITTE

[a—

)

Lad

4. ANTAZAPTIRIAT R

Options :

68634088685. 1
68634088686. 2
68634088687. 3
68634088688. 4



Question Number : 73 Question Id : 68634022445 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the list given below identify those statements which relate to TCA cyele.

A Pyruvate directly enters into TCA cycle after conversion to acetyl-CoA

B. Pyruvate 1s converted to acetyl-CoA by the pyruvate dehydrogenase complex
C. Succinate 1s hydrolyzed to fumarate by the action of succinate dehydrogenase
D. Condensation of acetyl-CoA with oxaloacetate to yield citrate

E. GTP 1s synthesized during hydrolysis of the suecinyl-CoA to yield succimate

Choose the correct answer from the options given below:

1.ABandC

[

.B.Dand E
J.C.Dand E

4 A CandD

Options :

68634088689. 1
68634088690. 2
68634088691. 3
68634088692. 4

Question Number : 73 Question Id : 68634022445 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FAfeREd 3 TeA ¥ Haftfd &F 4 9 87

A, TffEd.coa H ufiafdd 89 &R 9I5%de WY TCA T H YW H3al §

B. UI5%dc SIgSol-4 HIECay gRI disede URifed-CoA H URafdd siar &
C. FRiE SRS gRI JaH-e WHEE § od HTied 8id 6|

D. TRIfT CoA @1 AT B AIY HEAURH o dgec Hadi gl

E. I -CoA & OTd UG 4 YRIHC §-d1 & ayl GTP IAYY 8T 3|

-1 fau e famedt § 9 et SR &1 90 Hifwg - |
1. Pad A B3R C

Pad B, D AR E

. HaAC, D HRE

4, Had A, C IR D

Options :
68634088689. 1
68634088690. 2

[ )
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68634088691. 3
68634088692. 4

Question Number : 74 Question Id : 68634022446 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

From the list given below 1dentify those statements which relate to population attributes 1 ecological studies.

A. A group of individuals from asexual reproduction 1s not considered as population

B. Both population and individual orgamism have certaimn attributes

C. Sex ratio 1s an essential attribute characteristic of a population

D. Status of population growth is reflected through the shape of pyramids

E. Population density is the technical representation of population size that is designated as N

Choose the correct answer from the options given below:
lLA.Band C
2.B.CandD
3.A,Cand D

4, C.Dand E

Options :

68634088693. 1
68634088694. 2
68634088695. 3
68634088696. 4

Question Number : 74 Question Id : 68634022446 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeRad ¥ 3 aredl &1 9afd &< off gIRRUfaS srer I SH8@ & 1l 4 S&d 3
A AT IoFH T S THE &I wAP T8 aFd B
B. YA qUI Y oild § $S U 6ld 6|
c. fit mf® &1 e s Su Sfiaefe T sl g |

D. feeelht Tufy &t 9gd S9d fRIfie & eR I gal Iad! ¢ _
E. IO 9@ GHP PR T dH-1h! HE0P & o N gRT X1 Ardr o

i 30 70 f[ddedl H ¥ 9ol 398 & 994 Bl ;
1. A, B 3R C
2. ®adB. C 3R D
3. %ddA. C IR D
4. ®ad C,D AR E




Options :

68634088693. 1
68634088694. 2
68634088695. 3
68634088696. 4

Question Number : 75 Question Id : 68634022447 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the list given below identify those statements which relate to biosynthesis of eytokinins.

A Cytokinins deregulate the cell division in shoots and roots

B. Precursors for formation of isoprene structures are mevalonic acid or pyruvate plus 3-phosphoglycerate
C. Cytokinins from the root are transported to the shoot via phloem

D. ipr gene catalyzes the first step in cytokinin biosynthesis

E. Free cytokinins are rapidly metabolized to their nucleoside or nucleotide forms

Choose the correct answer from the options given below:

1.ABandC

[ )

.B.Dand E
JJACandD

4 C.Dand E

Options :

68634088697. 1
68634088698. 2
68634088699. 3
68634088700. 4

Question Number : 75 Question Id : 68634022447 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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®ad B, D AR E
BIAA, C IRD
4. %A C,D AR E

Options :

68634088697. 1
68634088698. 2
68634088699. 3
68634088700. 4
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Question Number : 76 Question Id : 68634022448 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Green light in the middle of the visible light spectrum 1s not absorbed by plants efficiently. and 1s
reflected back to the eyes.

Statement IT: Chlorophyll absorbs red light in wavelength of 370-430 nm very strongly.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

()

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT 15 false

4, Statement I is false but Statement IT is true

Options :

68634088701. 1
68634088702. 2
68634088703. 3
68634088704. 4

Question Number : 76 Question Id : 68634022448 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HYF I TG UPIRI b WagH & T T o UHI DI ol 914 gIRT TR ol gl UTdl € aul =1 &1
wRdfdd gl 5|

U 11. U0t 8 370-430 nm & A UHTY B RIS B 5 auifid Hd 8
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-J

4, PYT1 TGI8, AT FYT I TT &

Options :

68634088701. 1
68634088702. 2
68634088703. 3
68634088704. 4

Question Number : 77 Question Id : 68634022449 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the list given below 1dentify those statements which relate to nutritive value of horticulture crops.

A. Sea cod 1s the highest source of carotene

B. Avocado 1s the richest source of fat among fruits

C. Almond comprises the richest source of fat

D. Guava 1s the richest source of fibre among fruits

E. Sweet potato 1s the richest source of carbohydrate among vegetables

Choose the correct answer from the options given below:

1. ABandC

(R

.B.Dand E
3.A CandD

4, C.Dand E

Options :

68634088705. 1
68634088706. 2
68634088707. 3
68634088708. 4



Question Number : 77 Question Id : 68634022449 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a8 9 34 9 g SIS Byl ®1 UNe el & avg 1 g2

A T IS BRACH DI Ta =BT HA 3 |

B. Bl & UAIHTS! 9 &1 Ja9 51 Aid ¢
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E. Yool § wandc delgRac & Ty = did g

I fAu U faedl © T gl 39 &1 98- Hiforu .
1. $ad A B 3R C

Pad B, D AR E

. PIAA, C IRD

4, %dd C. D AR E

Options :

68634088705. 1
68634088706. 2
68634088707. 3
68634088708. 4
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Question Number : 78 Question Id : 68634022450 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the list given below identify those statements which relate to dry flower arrangement.

A. Potpourri includes the mixture of sweet scented floral plant parts
B. For commercial foliage preservation, glycerine method 1s followed
C. Skeletonizing is done for Ficus religiosa

D. African marigold is oven dried at 45-49° C for 72 hours

E. French merigold is oven dried at 45-49° C for 96 hours
Choose the correct answer from the options given below:

1.ABandC

| S

.B.Dand E
JJA CandD

4. C.Dand E

Options :
68634088709. 1
68634088710. 2



68634088711. 3
68634088712. 4

Question Number : 78 Question Id : 68634022450 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4 o 91 ol 1 S 9 Hafifd B 4 ara g
A, de & grfaa qedf & faftr yrt ot fismn 2
B. aTforfoer quf g uRar wefled fafe 4 Tva g
C. BlEod RIS # ThafcAgiei & &idl |
D. WIS TIaT 45-49° C TR 72 U¢ T 3o H a1 &iral & |
E. U5 1141 45-49° C TR 96 H¢ G Mg § Gl oifdl ¢ |

- feu T fawedt 7 € Het ST &1 994 Fifoe -
1.$adA, B HRC

.$ad B, D 3RE

3. $ad A, C 3R D

4. %dd C. D 3RE

Options :

68634088709. 1
68634088710. 2
68634088711. 3
68634088712. 4
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Question Number : 79 Question Id : 68634022451 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the list given below identify those statements which relate to food spoilage.

A. Scarlet fever 1s due to spoilage by Saccharomyces

B. Mycotoxins are produced by a variety of fungi

C. Toxin prussic acid 18 present in walnut

D. Low sugar products can be spoiled by Saccharomyees
E. Foods with salt content can be spoiled by moulds

Choose the correct answer from the options given below:

1.A BandC

| ]

.B.Dand E

3JA CandD

4. C.Dand E



Options :

68634088713. 1
68634088714. 2
68634088715. 3
68634088716. 4

Question Number : 79 Question Id : 68634022451 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
79 B 9 arey @ faefd 4 deiid o2

A, ThTde R AR gR1 e S gar gl

B. 31 Faw! R HaPI9y SASGT 8ld o

C. 3rERIe J i¥e St iy (eifey=) U S g |
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- feg 1 faoedt # ¥ Het SR o1 =994 Sifoe -
1. Fad A, B IR C

. BAdB, D ARE

. $Ad A, C 3R D

4. a4 C, D IRE

Options :

68634088713. 1
68634088714. 2
68634088715. 3
68634088716. 4
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Question Number : 80 Question Id : 68634022452 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Glucose acts as a common sugar in polysaccharides and forms two main families of
carbohydrates.

Statement I1: Many of the common polysaccharides comprise single type of sugar groups. hence are termed
as heteropolysaccharide.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

[

. Both Statement I and Statement IT are incorrect

. Statement I is correct but Statement IT 1s incorrect

s

4. Statement I is incorrect but Statement IT is correct



Options :

68634088717. 1
68634088718. 2
68634088719. 3
68634088720. 4

Question Number : 80 Question Id : 68634022452 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIECICRIEREURIIS
T I DI THI TDISS b HHH H1A Sl § U PIEEESE P &l Y TSR a1 g |
T I1: DR T TgUPSS H Udhd DI 4G 61d 6. 3/d: 576 el agUdIss Hod o
SURIGT Y & 3fTaie H, i fQU U fdeti & 9 T Iuged 9o &1 98 I
1. P 1 3R 11 ST Wl &
YT SR IS TTed &
3. DY 1 UBI 6, Al BYH 11 7Ted &
4, Y 1 TTCd 5, Wi PUT I 51 ©

Options :

68634088717. 1
68634088718. 2
68634088719. 3
68634088720. 4
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Question Number : 81 Question Id : 68634022453 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Brief periodic exposure to sublethal heat stresses often induces tolerance.

Statement II: In plants, adaptation to heat stress 1s mediated by cytosolic caleium.

In the hight of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

[ ]

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT 1s incorrect

4. Statement I is incorrect but Statement IT 1s correct

Options :

68634088721. 1
68634088722 2
68634088723. 3



68634088724. 4

Question Number : 81 Question Id : 68634022453 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HUA 1 HTUTAD I TG BT O AT SHUEH W Figw[al Uid SIai g
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Options :

68634088721. 1
68634088722. 2
68634088723. 3
68634088724. 4
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Question Number : 82 Question Id : 68634022454 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Nicking 1s found to be effective in the inhibition of floral shoot.

Statement I1: Nicking practice limits the concentration of carbohydrates m the bud and reduces water and
nitrogen supply to plant.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

(o)

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT 1s imncorrect

4, Statement I is incorrect but Statement IT 1s correct

Options :

68634088725. 1
68634088726. 2
68634088727. 3
68634088728. 4



Question Number : 82 Question Id : 68634022454 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A <l YA lRU MU E:
HYH 1. FfdT gt a1 &1 g ol )
T 11 Ffd1 Sice H Sralsggc & Figdl S1Ud Hal & ayl od Ud Argcior &1 ST gerar g
SURIGd Y & ATl H, - f3u T fadedl § 9 99 Sugdd ok &l 99 HIfT.

1. P 1 3R 11 ST el &
@Y1 AR 11 GHI TTed &
3. PYA1 ! 8. diihd Sy I TTad ©
4, HYF 17Ted &, Al YT Ul ©

Options :

68634088725. 1
68634088726. 2
68634088727. 3
68634088728. 4

| )

Question Number : 83 Question Id : 68634022455 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Periclinal chimera are most common and relatively stable chimera type.

Statement I1: Tissue of single genetic composition oceur as a relatively thick skin with one or two cell layers
over a genetically different core.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

(o)

. Both Statement I and Statement IT are incorrect

. Statement I is correct but Statement IT 1s incorrect

Lad

4, Statement I is incorrect but Statement IT 1s correct

Options :

68634088729. 1
68634088730. 2
68634088731. 3
68634088732. 4

Question Number : 83 Question Id : 68634022455 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
CIE AL RIC R CA RN
FYA 1. IS FISERT &Y IH dYT fBR UHR &1 S5 2

DY I1:Ud HTIRIP Gued & Hdd U difRIed: [T SR U U 3ydl &l BIBI134 &I il ol
Tidt Ry / e & =9 &yt ot 21

SURIGT Y & 3fTaie H, i fQU U fdeti & 9 T Iuged 9o &1 98 I
1. Y1 AR SH el &

| B

YT AR IS T ©
3. Y1 9ol 8, AfpT HYA I TTEd ©
4. YT 1 TTEd §, AfdeT HYT 1 T8 &

Options :

68634088729. 1
68634088730. 2
68634088731. 3
68634088732. 4

Question Number : 84 Question Id : 68634022456 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Most adaptations have evolved through long evolutionary time and are fixed genetically.
Statement II: In Opuntia, the flattened stems preform the activity of photosynthetic functions.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

[

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT 15 false

4, Statement I is false but Statement IT is true

Options :

68634088733. 1
68634088734. 2
68634088735. 3
68634088736. 4

Question Number : 84 Question Id : 68634022456 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- 3 By RU L §:
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Options :

68634088733. 1
68634088734. 2
68634088735. 3
68634088736. 4

Question Number : 85 Question Id : 68634022457 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are steps n air layering.

A 2.3 inch bark i1s removed from the stem to perform girdling.

B. The exposed part 1s covered with moist sphagnum moss.

C. The sphagnum moss 1s covered with a square piece of polythene which 1s tied at both ends to prevent
drymg.

D. The stem 1s planted in coarse sand such that at least 3 nodes are embedded and 2 nodes remain above the
ground.

Choose the most appropriate answer from the options given below:

1.B.C & D only
2.A.B&Conly
3.A.B&Donly
4. C.D & A only

Options :

68634088737. 1

68634088738. 2

68634088739. 3
68634088740. 4



Question Number : 85 Question Id : 68634022457 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
8 79§ 9 IR (6D & RO BH I 77

A TTSTET 8 dH W 2-3 39 &1 BId gelg Wil g
B. Fd YT I 318 Th3uH A9 91 I |
C. TS ThUd A1 °TY $I Il & aieR s I 8@ B 34 aHl ARl 0 ate fores ag g@

D.E%Wﬁ%ﬂﬂﬁﬁﬁﬁmﬁj Tié Ydlg & Aid d &l 71é 9de & SR ol
1= fduu f9eedl ¥ 9 a4 Iugad SR &1 98- S |
1. $adB, C 3R D
PAAA,BHRC
. PIA A, B IRD
4, %ddC, D AR A

Options :

68634088737. 1
68634088738. 2
68634088739. 3
68634088740. 4

-
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Question Number : 86 Question Id : 68634022458 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Sulphuring is mostly performed in vegetables.

Statement II: Case hardening is the problem in dehydration of products.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

| D)

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false

4. Statement I is false but Statement IT is true

Options :

68634088741. 1
68634088742. 2
68634088743. 3
68634088744. 4

Question Number : 86 Question Id : 68634022458 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Ard <l py R U E:
B 1. b0 FHIG: Hieod! H foal S & |
@Y I1: ¥ BB R Hoiol |0l & Sdl6l § G 6 |
SRIdd YU & Tad J, 1= f[GU T fae el & 9 98t 3ok &1 907 ST
1. HYF 1 R 1S 93 §

| )

YT 3R I EFT E §
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Options :

68634088741. 1
68634088742. 2
68634088743. 3
68634088744. 4

Question Number : 87 Question Id : 68634022459 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following statements with respect to structural polysaccharides in plants

A Polysaecharide comprises around 90% of the structural material of cell walls of all higher plants.

B. A single glucagon fibre consists of 300-400 glucan chains held together by a huge number of hydrogen
bonds.

C. Pectins can be easily extracted with hot water and have high importance in food industry.

D. Many forage legumes grown under tropical climate are found to have saponins.

E. Protopectin has more COOH group esterified than in the middle lamella.

Choose the correct answer from the options grven below:

1. A, B and C only

[ ]

.B. C, and E only
3.B.D and E only

4. A, C and E only

Options :

68634088745. 1
68634088746. 2
68634088747. 3
68634088748. 4



Question Number : 87 Question Id : 68634022459 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 areat &1 il § TR aguangs! & e 7 Ue -

A, F UIey gif § SRRy § GaEP 5o 90% SEUDRISS Bld o
B. Wﬁﬁi&ﬂmmoo@ﬁ%ﬁfﬁﬁﬁﬁ@?ﬁ%ﬁﬁ@?ﬁ e | grggior §=F 9 oS! gidl
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C. Ut & o A e fovd o awd € aur are Sai H srafee 75w 3Ed ¢
D. IUI Sdarg H 37 o ardl S¥eaR gag-l 9 H Y1+ urar Sl ¢
E. A%g Ueidl & SMuam Werifded & $ifie cooH g TeiFd sid g

=i fSu 70 fdeedl | ¥ Il SO & 994 Bl ;
1. Pad A, B AR |

FAA B, C, HRE

.$dd B, D 3RE

4. $AA A, C IRE

Options :

68634088745. 1
68634088746. 2
68634088747. 3
68634088748. 4

[ ]

L

Question Number : 88 Question Id : 68634022460 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements relates to salinity stress in plants

A. Transgenic Arabidopsis and potato plants overexpressing the gene that encodes AtNDXT exhibit
enhanced water stresss tolerance.

. Salt injury involves both osmotic effects and specific 1on effects.

. Ton inclusion 1s erueial for acclimatisation and adaptation to water stress.

. Sodium 1s transported across the plasma membrane and the tonoplast.

. Energy - dependent transport (efflux) of Na+ from the cytosol of plant cells across the plasma membrane
1s mediated by the gene product of the SOSI.

monw

Choose the correct answer from the options given below:

1. A, B and C only

()

.B. C and E only
3.B.D and E only

4. A, Cand E only



Options :

68634088749. 1
68634088750. 2
68634088751. 3
68634088752 4

Question Number : 88 Question Id : 68634022460 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gieff & @auig d-1d 9 Yefid &4 9 9reg g2
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SCRURSR

B. T1qU1 &ffcl F TRIRUT 51d g 3R Sre wHTe |fifnd g
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D. TIf$TH Sig gou el quT eHare & R g gl

E. Na© BT D 9 91d 5o FBIew & IR SHol- A T sos1 §iF 318 & gR Iaied
g gl

i fU 70 fadhedl © ¥ Igl SO &1 994 Bl -

1. PAA A, B IR C

2. HGAB. C AR E

3. %adB.D IR E

4, BAA A, C IR E

Options :

68634088749. 1
68634088750. 2
68634088751. 3
68634088752. 4

Question Number : 89 Question Id : 68634022461 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. RFLPs markers are co-dominant in their mmheritance

B. SNPs are co-dominant in their inheritance

C. RAPDs are dominant in their inheritance

D. RAPDs uses radio isotopes

E. RFLPs and RAPDs are considered as first generation molecular markers.

Choose the correct answer from the options given below:

1. A. B and C only

[

.B, C and E only
3.B,D and E only

4. A, C and E only

Options :

68634088753. 1
68634088754. 2
68634088755. 3
68634088756. 4

Question Number : 89 Question Id : 68634022461 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g o 9 ®F 97 9190 9 7
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E. RFLP JYT RAPD @I UYH Ulg! & 3uifde fIed A el

=i fSu 70 fdeedl | ¥ Il SO & 994 Bl ;
1. PaA A B AR C

BB, C SR E

.$dd B, D 3RE

4. $AA A, C IRE

Options :

68634088753. 1
68634088754. 2
68634088755. 3
68634088756. 4

[ ]

L

Question Number : 90 Question Id : 68634022462 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Consider the following statements under population interactions which are true

A Prey species have evolved several defenses to enhance the impact of predation

B. Fitness of one species significantly lower in the presence of other species

C. Parasites evolved to be host-specific and tend to co-evolve

D. Commensalisim 1s an mteraction of two species where one 1s benefitted where as the other 1s neither
harmed nor benefitted

Choose the most appropriate answer from the options given below:

1. A. B and C only

()

.B. C and D only
3.A.Band D only

4.B. D and A only

Options :

68634088757. 1
68634088758. 2
68634088759. 3
68634088760. 4

Question Number : 90 Question Id : 68634022462 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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i< fau U [deedl O ¥ a4 Iugad ok &1 98 B
1. FAd A, B 3R C

 Hdd B, C 3R D

. $adA A, B3HRD

4. HaAB,D AR A

Options :

68634088757. 1
68634088758. 2
68634088759. 3
68634088760. 4
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Question Number : 91 Question Id : 68634022463 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A JAuxins I. |Delay senescence of leaves
B. |Cytokinins II. |Ripening hormone
C. |[Ethylene I11. [Retardant
D. |Paclobutrazol | IV [Rooting Hormone

Choose the correct answer from the options given below:

1. A-I. B-II. C-IIL. D-IV

| ]

CA-TV, B-ILL C-TI1L D-I

CA-IV, B-1L C-II D-III

LIPS ]

4. A-IIL B-1. C-IV. D-II

Options :

68634088761. 1
68634088762. 2
68634088763. 3
68634088764. 4

Question Number : 91 Question Id : 68634022463 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 1 o1 9= 11 ¥ e sifey

Tl 1 9= 1T
EIESE] L [gRmi &1 sividn 5 fae|
qrscieriR-- | 1L [g@d sean
SUTET 1L [ BRAM
Uaciiegeraia | IV. [Aaidft 8RAM

FEfaRad e edl § 9 9ol 3 &1 994 S0

o o] w[

1. A-I. B-II. C-III. D-IV

[ ]

CA-TV, B-IL C-I11, D-I

CA-IV, B-1, C-II. D-III

L V]

4. A-IIL. B-I. C-IV. D-II

Options :
68634088761. 1
68634088762. 2



68634088763. 3
68634088764. 4

Question Number : 92 Question Id : 68634022464 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following statements under physiological basis of rooting which are true

A. Status of calcium and nitrogen 1s associated with vigorous root proliferation
B. Auxin level is closely associated with adventitious rooting of stem cuttings
C. Status of CHO and N 1s associated with vigorous root growth

D. Rooting co-factors with organic compounds influences rooting

Choose the most appropriate answer from the options given below:

1. A, B and C only

()

.B. C and D only

[ ¥]

.A. B and D only

4.B. C and A only

Options :

68634088765. 1
68634088766. 2
68634088767. 3
68634088768. 4

Question Number : 92 Question Id : 68634022464 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634088765. 1
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68634088766. 2
68634088767. 3
68634088768. 4

Question Number : 93 Question Id : 68634022465 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following statements under fruit and vegetable processing which are true

A Strawberry and raspberry are soft fruits used as preserve
B. Fermentation in preserve is due to insufficient sugar

C. Stickiness in preserve is due to consistency of syrup

D. French fries are frozen potato chips

Choose the most appropriate answer from the options given below:

1. A, B and C only

[ )

.B, C and D only

L]

.A B andD only

4.D. C and A only

Options :

68634088769. 1
68634088770. 2
68634088771. 3
68634088772. 4

Question Number : 93 Question Id : 68634022465 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Pad A B3R C

PAAB, C AR D

PTAA. B IRD

4, %ddD, C 3R A

Options :

[ )

L]



68634088769. 1
68634088770. 2
68634088771. 3
68634088772. 4

Question Number : 94 Question Id : 68634022466 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Cell Structure) |(Function / Pathway)
A |Chloroplast I. |Protein synthesis
B. |Celia and flagella| II. [TCA cyvcle
C. |Ribosomes II1. [Photosynthesis
D. PMitochondria IV. PMovement

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-I, D-II

()

. A-L. B-IL. C-IV, D-III

ATV, B-1. C-I11, D-1I

L

4. A-II. B-I11. C-IV. D-I

Options :

68634088773. 1
68634088774. 2
68634088775. 3
68634088776. 4

Question Number : 94 Question Id : 68634022466 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-ITL. B-IV, C-1. D-II

[ ]

CA-L B-ILL C-IV. D-III
3. A-IV. B-I, C-1II, D-I1

4. A-IT. B-II1. C-IV, D-I

Options :

68634088773. 1
68634088774. 2
68634088775. 3
68634088776. 4

Question Number : 95 Question Id : 68634022467 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A |Ecology I. |Photosynthetic algae
B. |Producer II. |Bacteria and fungi
C. |Biomass I11. |Standing crop
D. [Reducer IV. [Food chain

Choose the correct answer from the options given below:

1. A-IIL. B-IV, C-1. D-II

| ]

CA-L B-ITL, C-IV. D-IIT
3. A-IV. B-1, C-1II, D-I1

4. A-II. B-IIL. C-IV, D-I

Options :

68634088777. 1
68634088778. 2
68634088779. 3
68634088780. 4



Question Number : 95 Question Id : 68634022467 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 =l 11 ¥ fier ifeg
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1. A-ITL B-IV, C-1, D-II

[ ]

CA-L B-ILL C-IV. D-III

ATV, B-1, C-III, D-II

faa

4. A-I1. B-11, C-IV, D-I

Options :

68634088777 1
68634088778. 2
68634088779. 3
68634088780. 4

Question Number : 96 Question Id : 68634022468 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
A |Glyphosine I. |Sugarcane ripening agent
B. PMaleic hydrazide] 11 |Growth mhibitor
C. PMMorphactins II1. |Water stress
D |Abscisic acid IV [Chlorfirecol

Choose the correct answer from the options given below:

1. A-IIL. B-IV, C-I, D-II

| ]

CA-L B-IIL, C-IV. D-III

CA-IV, B-1, C-III, D-II

Laa

4. A-II. B-I11. C-IV. D-I

Options :

68634088781. 1
68634088782. 2
68634088783. 3



68634088784. 4

Question Number : 96 Question Id : 68634022468 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 =l 11 ¥ fier ifeg

A 1 T I
IR AR L [Te &l U & AfiEmdl
Ofd® g3ardss| L [ged Huu®
Hih g 101, [oief 911G

e w1V [iRERie
fFafaRad fasedl O U Ut IR &1 994 S

1. A-ITL B-IV, C-1, D-II

ol o[ w[»>

[ ]

CA-L B-ILL C-IV. D-III

ATV, B-1, C-III, D-II

faa

4. A-I1. B-11, C-IV, D-I

Options :

68634088781. 1
68634088782. 2
68634088783. 3
68634088784. 4

Question Number : 97 Question Id : 68634022469 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Interphase I. Movement of chromosomes to poles
B. |Telophase II. |Cell plate formation
C. |Anaphase IT1. |Spindle tubules appear
D. PMetaphase IV |Resting stage

Choose the correct answer from the options given below:

1. A-I. B-II. C-III, D-IV

| ]

CA-IL B-IILL C-IV, D-1

A-IIL B-IL. C-I. D-IV

L

4. A-TV, B-II. C-1. D-III

Options :
68634088785. 1



68634088786. 2
68634088787. 3
68634088788. 4

Question Number : 97 Question Id : 68634022469 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 =l 1 ¥ fier Sifeg

T 1 Tt I
eyl sy | 1 [IURE! 1 4l & % T
S/ A 1L [l wie Ha
OYTRIT UAThS | 1L [dds =11 €59 8iH]
HeTaR]  Heth | IV. [fdsifa / AT sfaw

fFafead Aeedl § O gl 3ok &1 904 i -

1. A-I, B-II. C-IIL, D-IV

ofo=]x

[ )

A-IL B-II1. C-IV, D-I

A-IIL B-IL. C-1. D-IV

L

4. A-IV, B-II., C-1. D-III

Options :

68634088785. 1
68634088786. 2
68634088787. 3
68634088788. 4

Question Number : 98 Question Id : 68634022470 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
F.=tinol I. |Fenugreek leaves

Tocopherol II. PMandarin
Fiboflavin II1. [Pumpkin
[ Ascorbic acid | IV |Avocado

o[ ofw[>

Choose the correct answer from the options given below:

1. A-IIL. B-IV, C-I, D-II

| )

. A-L B-II. C-IV. D-III

3. A-IV, B-1. C-I1I, D-II

4. A-II. B-I11. C-IV, D-I



Options :

68634088789. 1
68634088790. 2
68634088791. 3
68634088792. 4

Question Number : 98 Question Id : 68634022470 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 191 g1 11 9 o Hifee
Tl 1 T I

A RfETd I [deftod

B. [e@iihid | IL [

C. Rigekifgd | 1L [Pag

D. [GEdlldd 5 | IV. [uaidmrsl

fFafead Aeedl § O T8l IR &1 904 i -

1. A-IIL. B-IV, C-I, D-II

)

. A-L. B-IL. C-IV, D-III

CA-TV, B-1, C-II1, D-II

Lad

4. A-I1. B-I11, C-1IV, D-I

Options :

68634088789. 1
68634088790. 2
68634088791. 3
68634088792. 4

Question Number : 99 Question Id : 68634022471 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II
A |Long pepper 1. Hyvocvamus niger
B. [Kewra 1. VPiper longum
C. |Isabgol II1. \Pandarnus fascicularis
D. [Henbane IV \Plantago vata

Choose the correct answer from the options given below:

1. A-IIL, B-IV, C-I, D-II

| ]

CA-L B-ITL, C-IV. D-III
3. A-IV. B-1, C-1III, D-I1

4. A-II. B-IIL. C-IV, D-I

Options :

68634088793. 1
68634088794. 2
68634088795. 3
68634088796. 4

Question Number : 99 Question Id : 68634022471 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 191 = 11 ¥ e Sifse

T 1 T I
A [fget 1 |GrRIEEag FI5o
B. [Gasar Il |GI5TR i
C. [5He 11 | 77579 HHlagary
D. [g4a4 V. |@=71 aarer

FEfaRad e edl § 9 9ol 3 &1 994 S0

1. A-IIL. B-IV, C-1. D-II

[ ]

CA-L B-ILL C-IV. D-III

CA-IV, B-1, C-II1, D-II

Ly ]

4. A-IT. B-II1. C-IV, D-I

Options :

68634088793. 1
68634088794. 2
68634088795. 3
68634088796. 4



Question Number : 100 Question Id : 68634022472 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
A |Arecanut I. |Vengurla-4
B. |[Cashewnut II. |[Chandragiri
C. |Cocoa IT1. [Forastero
D. [Coffee IV |Swarnamangala

Choose the correct answer from the options given below:

1. A-IIL. B-IV, C-I, D-II

)

. A-L B-IIL. C-IV. D-III
3. A-IV. B-1. C-I11, D-II

4. A-II. B-I11. C-IV, D-I

Options :

68634088797. 1
68634088798. 2
68634088799. 3
68634088800. 4

Question Number : 100 Question Id : 68634022472 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 =l 11 ¥ fier ifeg
T 1 T 11
A [guRt I [q97RaT - 4
B. [&T9 L. F==RRET
C. [@i®! 1L [GRRECR
D. [GIET IV. [gu T
fFafaRad fasedl O U Ut IR &1 994 S

1. A-ITL B-IV, C-1, D-II

[ ]

CA-L B-ILL C-IV. D-III

ATV, B-1, C-III, D-II

faa

4. A-I1. B-11, C-IV, D-I

Options :

68634088797. 1
68634088798. 2
68634088799. 3



68634088800. 4



